Explain Multiply out ' px -7
“SUBSTITUTION" 3 (x+m+3)(5+m) (p+3)(p-7)
“FACTORISE” f, xp 3]
“QUADRATIC” ’ w ’
—p?-7p+3p-21
=p*-4p-21

Bl ® Bl

|7'e lf» :

(x+3)x+2) 2). (a+4)a+06) . (c+3)c+4) .o (r+2)(r+7)

(y+3)(y+5) 6). (t+8)(t+3) . (k+6)k+2) . (d+8)d+2)
(f+35)f-2) 10). (g+2)(g-4) e+ 1)e-2) . (b+4)(b-1)

3). (h+5)h-2) 14). (p+35)p-4) . (m+3)(m-4) ). (h+7)(h-9)
C(w-4)(w+3) 18). (e-6)e+)5) o (y-Ty+2) (-5 +2)

rm Y U L
x~1

{Zy +2)(y+6) 2). Bd+1(d+4) 3). p+3)CBp+1) 4). (Bw+502w+3)
Ay +2)2y+4) 6). (QU+5@t+3) 7). (@k+3)5k+2) 8). (2d+7)3d +2)
. @+ 7)2f-2) 10). Be+8)2e-4) 11). (6e+4)3e-2) 12). (2b+3)(7b-1)
3). (4h+3)(2h-4) 14). Bp+2)3p-5) 15). 2m+3)@m-4) 16). (3h+6)(2h-9)
L (5w -2)2w +3) 18). (de - 8)(e + 5) . 2y -8)3y +2) 20). (5f-5)3f+2)




